

$\Rightarrow f$ は Δ に $f(x, y)$ は連続増加

\Rightarrow の時、 f は X に $\delta > 0$ ($f(x, y) = 0$ の解 $x \in \Delta$) の一つを定めて、

\Rightarrow x を $f = 0$ の x とする。

$$\begin{cases} f(x, \varphi(x)) = 0 \\ \varphi(x) = b \end{cases} \quad \begin{matrix} \delta > 0 \\ \delta < 1 \end{matrix} \text{ と } \delta < \epsilon, \quad \begin{matrix} \delta > 0 \\ \delta < 1 \end{matrix} \text{ により } \varphi(x) \text{ は連続.} \end{cases}$$

Step 2.

φ は C^1 級

① (x, y) : Δ の内部

(s, t) を $(x+s, y+t)$ の Δ の内部に Δ と $\delta > 0$ に $\delta > 0$.

2変数平均値の定理から、

$$f(x+s, y+t) - f(x, y) = s \frac{\partial f}{\partial x}(x+\theta s, y+\theta t) + t \frac{\partial f}{\partial y}(x+\theta s, y+\theta t) \quad (0 < \theta < 1)$$

$$\left\{ \begin{array}{l} y = \varphi(x) \\ x = \varphi(x+s) - \varphi(x) \end{array} \right. \quad \text{より } t = \Delta$$

$$(左辺) = f(x+s, \varphi(x) + \varphi(x+s) - \varphi(x)) - f(x, \varphi(x))$$

$$= f(x+s, \varphi(x+s)) - f(x, \varphi(x))$$

$$= 0 \quad (\text{右辺} = 0)$$

$$(右辺) = s \frac{\partial f}{\partial x}(x+\theta s, \varphi(x) + \theta(\varphi(x+s) - \varphi(x)))$$

$$+ (\varphi(x+s) - \varphi(x)) \frac{\partial f}{\partial y}(x+\theta s, \varphi(x) + \theta(\varphi(x+s) - \varphi(x)))$$

$$\begin{aligned} \text{よって、} \quad \frac{\varphi(x+s) - \varphi(x)}{s} &= - \frac{\frac{\partial f}{\partial x}(x+\theta s, \varphi(x) + \theta(\varphi(x+s) - \varphi(x)))}{\frac{\partial f}{\partial y}(x+\theta s, \varphi(x) + \theta(\varphi(x+s) - \varphi(x)))} \end{aligned}$$

両辺の $\lim_{s \rightarrow 0} s \rightarrow 0$.

$$(左辺) = \varphi'(x)$$

$$(右辺) (\varphi \text{ は連続, } \varphi(x+s) - \varphi(x) \xrightarrow{s \rightarrow 0} 0 \text{ は連続})$$

$$= - \frac{\frac{\partial f}{\partial x}(x, \varphi(x))}{\frac{\partial f}{\partial y}(x, \varphi(x))}$$

\leftarrow 連続 $\therefore \varphi$ は C^1 級